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PSSA Math: Men's Shoe Sizes (Grade 6); Training Set 1 T1-1
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25. Carlos surveyed 40 men about their shoe sizes. Carlos made the box-and-whisker plot
below to display his resuits.

Men’s Shoe Sizes
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A. What was the median shoe size of the 40 men Carlos surveyed'? Explain how
you.found your answer. t
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PSSA Math: Men's Shoe Sizes (Grade 6); Training Set 1 T1-1

25. Continued. Please refer to the previous page for task explanation.

Martin thinks more men have shoe sizes between 6 and 9 than between 11-1 and

2
13 because the whisker from 6 to 9 is longer than the whisker from 11% to 13.

B. Explain why Martin is not correct. As part of your explanation, find the number
of men with shoe sizes in each interval and describe how you found those

numbers.
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PSSA Math: Men's Shoe Sizes (Grade 6); Training Set 1 T1-2
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25, Carlos surveyed 40 men about their shoe sizes. Carlos made the box-and-whisker plot
below to display his results.

Men's Shoe Sizes
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A. What was the median shoe size of the 40 men Carlos surveyed? Explain how
you found your answer.
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PSSA Math: Men's Shoe Sizes (Grade 6); Training Set 1

25. Continued. Please refer to the previous page for task explanation,

Martin thinks more men have shoe sizes between 6 and 9 than between 11-2- and

13 because the whisker from 6 to 9 is longer than the whisker from 11§- to 13.

] B. Explain why Martin is not correct. As part of your explanation, find the number
of men with shoe sizes in each interval and describe how you found those

numbers. .
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PSSA Math: Men's Shoe Sizes (Grade 6); Training Set 1

=

T1-3
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25. Carlos surveyed 40 men about their shoe sizes. Carlos made the box-and-whisker plot

below to display his resuilts.
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you found your answer.
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PSSA Math: Men's Shoe Sizes (Grade 6); Training Set 1 T1-3
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25. Continued. Please refer to the previous page for task explanation..

:
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Martin thinks more men have shoe sizes belween 6 and 9 than between 11-21* and

’ | 13 because the whisker from 6 to 9 is longer than the whisker from 11-;- to 13,

] B. Explain why Martin is not correct. As part of your explanation, find the number
} | of men with shoe sizes in each interval and describe how you found those
numbers,
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PSSA Math: Men's Shoe Sizes (Grade 6); Training Set 1 T1-4

Carlos surveyed 40 men about their shoe sizes. Caros made the box-and-whisker plot below to display his results.

Men's Shoe Sizes
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A. What was the median shoe size of the 40 men Carlos surveyed? Explain how you found your answer,
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Martin thinks more men have shoe sizes between 6 and 9 than between 115 and 13 because the whisker from & to 9 is longer than the

1
whisker from "5 o 13.

B. Explain why Martin is not correct. As part of your explanation, find the number of men with shoe sizes in each interval and describe how
you found those numbers,
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PSSA Math: Men's Shoe Sizes (Grade 6); Training Set 1 T1-5
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25. Carlos surveyed 40 men about their shoe sizes. Carlos made the box-and-whisker plot
below to display his resuits.

Men’s Shoe Sizes
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A. What was the median shoe size of the 40 men Carlos surveyed? Explain how
you found your answer.; -
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PSSA Math: Men's Shoe Sizes (Grade 6); Training Set 1 T1-5

25. Continued, Please refer to the previous page for task exptanation.,

Martin thinks more men have shoe sizes between 6 and 9 than between 11—;— and

13 because the whisker from 6 to 9 is longer than the whisker from 11;— to 13.

B. Explain why Martin is not correct. As part of your explanation, find the number
of men with shoe sizes in each interval and describe how you found those
numbers.
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PSSA Math: Men's Shoe Sizes (Grade 6); Training Set 1 T1-6
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25. Carlos surveyed 40 men about their shoe sizes. Carlos made the box-and-whisker plot
below to display his results.

Men’s Shoe Sizes
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PSSA Math: Men's Shoe Sizes (Grade 6); Training Set 1 T1-6

25. Continued. Please refer.to the previous page for task explanation.

Martin thinks more men have shoe sizes between 6 and 9 than between 11% and

13 because the whisker from 6 to 9 is longer than the whisker from ‘11% to 13.

B. Explain why Martin is not correct. As part of your explanation, find the number
of men wnth shoe sizes in each interval and describe how you found those

numbers. MG f‘f—‘
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PSSA Math: Men's Shoe Sizes (Grade 6); Training Set 1 T1-7
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25. Carlos surveyed 40 men about their shoe sizes. Carlos made the box-and-whisker plot
below to display his results.

Men's Shoe Sizes
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A. What was the median shoe size of the 40 men Carlos surveyed? Explain how

you found your answer.
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PSSA Math: Men's Shoe Sizes (Grade 6); Training Set 1

25. Continued. Please refer to the previous page for task explanation.

T1-7

Martin thinks more men have shoe sizes between 6 and 9 than between 11-12- and

13 because the whisker from 6 to 9 is longer than the whisker from 11% Eo 13

B. Explain why Martin is not correct. As part of your explanation, find the number
of men with shoe sizes in each interval and describe how you found those
numbers.,
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PSSA Math: Men's Shoe Sizes (Grade 6); Training Set 1 T1-8
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25. Carlos surveyed 40 men about their shoe sizes. Carlos made the box-and-whisker plot
below to display his results.

Men’s Shoe Sizes

A: What was the median shoe size of the 40 men Carlos surveyed? Explain how
you found your answer.
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PSSA Math: Men's Shoe Sizes (Grade 6); Training Set 1 T1-8

25. Continued. Please refer to the previous page for task explanation.

Martin thinks more men have shoe sizes between 6 and 9 than between 11%- and

13 because the whisker from 6 to @ is longer than the whisker from 11-12- to 13.

B. Explain why Martin is not correct. As part of your explanation, find the number
of men with shoe sizes in each interval and describe how you found those

numbers.
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PSSA Math: Men's Shoe Sizes (Grade 6); Training Set 1 T1-9
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25, Carlos surveyed 40 men about their shoe sizes. Carlos made the box-and-whisker plot
below to display his results.

Men’s Shoe Sizes

A. What was the median shoe size of the 40 men Carlos surveyed'? Explain how
~ you found your answer.
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PSSA Math: Men's Shoe Sizes (Grade 6); Training Set 1 T1-9

25. Continued. Please refer to the previous page for task explanation.

Martin thinks more men have shoe sizes between 6 and 9 than between 11—2- and

13 because the whisker from 6 to 9 is longer than the whisker from 11%- to 13.

B. Explain why Martin is not correct. As part of your explanation, find the number
of men with shoe sizes in each interval and descnbe how you found those }
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PSSA Math: Men's Shoe Sizes (Grade 6); Training Set 1 T1-10
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25, Carlos surveyed 40 men about their shoe sizes. Carlos made the box-and-whisker plot
below to display his results.

Men'’s Shoe Sizes

A. What was the medlan shoe size of the 40 men Carlos surveyed? Explain how

you found your answe
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PSSA Math: Men's Shoe Sizes (Grade 6); Training Set 1

T1-10

25. Continued. Please refer to the previous page for task explanation.

Martin thinks more men have shoe sizes between 6 and 9 than between 11

2
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13 because the whisker from 6 to 9 is longer than the whisker from 11 1 to 13.

B. Explain why Martin is not correct. As part of your explanation, find the number
of men with shoe sizes in each interval and describe how you found those
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PSSA Math: Men's Shoe Sizes (Grade 6); Training Set 1

Subject: Math [tem: Men's Shoe Sizes Grade: 6

Name

Number Score Notes

T1-1

T1-2

T1-3

T1-4

T1-5

T1-6

T1-7

T1-8

T1-9

T1-10
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